Population

1. Match the words to the definitions about population.

L active population \_| 0O O L children under 16 and adults who cannot work J

[_ inactive population | o O ! R _pfo?{e.oier_ﬁ__l;  years old

[_ age _\ o © IH__.__ ~ how old you are

| adults _ \ O O ' S _pegpliaged 16 to 65 years old
[\ senior citizens \ o O ( adults who are able to work

A L

2. Look at the population graph and answer the questions.
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a) Which is the biggest age group?

b) Which is the smallest age group?

c) Are there more children or senior citizens?
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